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QUESTION 1

What are the two file formats in which scheduled reports can be e-mailed to a recipient?
A. TXT

B. GIF

C. XLS

D. PDF

E. DOC

Correct Answer: CD

QUESTION 2

Which two work order internal statuses allows a user to record actual materials?
A. APPR

B. WSCH

C. CLOSE

D. WAPPR

E. RESOLVE

Correct Answer: AC

QUESTION 3

From which application tab. can a user change the status of multiple records at once?
A. all tabs

B. List tab

C. Main tab

D. Related Records tab

Correct Answer: B

QUESTION 4

Which statement describes why an asset cannot be moved?
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A. The asset has no location

B. The asset is in a storeroom.

C. The asset is flagged as down.

D. The asset has a status of NOT READY.

Correct Answer: A

QUESTION 5

On an existing classification, one of the attributes has a value in the Inherited From field. What does this mean?
A. The attribute is associated with a classification that is higher up in the hierarchy.

B. The attribute is associated with a classification that is lower down in the hierarchy.

C. Any new attributes on this classification will inherit the same configuration as this attribute.

D. The attribute will automatically inherit values from a template when the classification is assigned to a record.

Correct Answer: A
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